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Perimeter, area and volume
Area of a trapezium = 5 (a+b)h
Where r is the radius and d is the diameter:

Circumference of a circle = 2zr = nd

Area of a circle = n*

)Nhere a and b are the lengths of the parallel sides and £ is their perpendicular sematnon
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Volume of a prism = area of cross section x length -—————
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Pythagoras’ Theorem and Trigonometry

In any right-angled triangle where a, b and c are
the length of the sides and c is the hypotenuse:

Compound Interest

Where P is the principal amount, 7 is the interest
rate over a given period and » is number of times
that the interest is compounded:

Total accrued = P (1 + L)
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OQO = 5 at+b =c

o) In any right-angled triangle ABC where a, b and ¢

’ are the length of the sides and c is the hypotenuse:
A
] X tan 42

O(’&.) . & b Posd) pD

SOR CAH TR Sun A=y Tan A= ad\s "
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1 | Perimeter, area and volume Quadratic formula
Where a and b are the lengths of the parallel sides | The solution of ax” + bx + ¢ =0
and 4 is their perpendicular separation:
1 where a #0
1. Areaof a trapezium = 3 (a+b)h
’ . ) _ =b++b*-4ac
Volume of a prism = area of cross section x length x=  om
Where r is the radius and d is the diameter:
: | Lge Huo when the Gueofien ;
| Circumference of a circle = 2nr = nd Gt gwe answey o X deappal
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Area of a circle = zr* b hep e papers_goushoud4ddens
Pythagoras’ Theorem and Trigonometry In any right-angled triangle where a, b and c are
: the length of the sides and c is the hypotenuse:
{ hyp a+b=c
i c
i oPP In any right-angled triangle 4BC where
: @ a, b and c are the length of the sides and
1 c is the hypotenuse:
i A
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i C SUHCA-H\B;"'\/Q C In any trian\‘gfe ABC wﬁ%re a, b and c‘J
} are the length of the sides:
% ) . _w“_
’ a - b c ' @
sine rule: = = N oL
snd snB sinC cld, &
O hxC
cosine rule: a* = b” + ¢* — 2bc cos 4 A
Area of triangle = = absinC
| Compound Interest Probability
, Where P is the principal amount, 7 is the interest Where P (4) is the probability of outcome 4
rate over a given period and » is number of times | and P (B) is the probability of outcome B: .
that the interest is compounded: P(AUD) = P(A)+ P(BY)- P(AN G)
' .Y P (4 or B)=P (4) + P (B) - P (4 and B)
‘ Total accmed=P(l+———) Fang) = RPE\B)* Pln)
i N 100 P (4 and B) =P (4 given B) P(B)
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